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ENGLISH VERSION

Instructions : (1) Figures to the right side indicate marks.

(2) Necessary calculations are a part of answer.

1 In a factory, factory overheads are recovered 60% of 20

direct labour and office expenses are included at 20% of
factory cost.

Actual Expenditures are as under :

Particulars Amt. (Rs.)
Direct material .........ccoovvviiineiiiiiiiiieinnn, 2,00,000
Direct Wages ....cooeevvvviieeiiiiiieeeeeee e 1,50,000
Factory overheads..........ccccoeeeiiiiiiieiiiiiiieeeen, 98,000
Office overheads .........cccoeeiiieiiiiiiiiiiiiiie, 85,000

Closing stock is 10% of production and sales is
Rs. 5,10,000. Prepare :

(1) Cost Sheet showing profit - loss.
(2) Statement showing financial profit and loss

(3) Reconciliation statement.

OR
1 Following is Trading and Profit and Loss Alc. of 20
Shreeji Ltd. for the year ended 31-12-2018 :
Particulars Amt. (Rs.)| Particulars Amt. (Rs.)
Raw material Sales (2700 units) 3,00,000
consumed 1,20,000 | Costing stock
Direct wages 72,000 (10% of unit
Factory overheads 48,000 produced) 24,000
Office overheads 42 000 | Interest received 2,400
Sales and distribution Dividend received 1,200
expenses 27,000
Preliminary exp.
written off 12,000
Net profit 6,600
3,27,600 3,27,600

Cost accounts provide following information :

(1) Raw material and direct wages are recorded at its
original value.

(2) Factory overheads are recorded at 50% of Direct wages.
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(3) Office overheads are recorded at 20% of factory cost.

(4) Sales and distribute expenses are recorded at Rs. 9 per

unit sold.
Prepare :
(1) Cost Sheet and

(2) Reconciliation Statement.

2 Hema Construction Company has received a contract to 20
built a bridge for Rs. 15,00,000. Details of contract as on
31-12-2018 i1s as below :

Particulars Amt. (Rs.)| Particulars Amt. (Rs.)
Material issued at site 2,00,000 | Material stock on
Wages 2,94,000| on 31-12-2018 15,000
Material purchases Plant maintenance 9,000
for site 1,06,500| Cash received for
Material returns 1,500| contract 4,50,000
Material sent to other Work uncertified 15,000
contract 6,000 | Proportnate

indirect expenses 9,000

Cash received 75% of certified work, the balance will be
at the end of contract. Contract was started on 1-5-18.
Transfer 2/3 profit to Profit and Loss A/c. on cash bases.
Prepare Contract Account.

OR

2 From the following information prepare Contract Account 20
by 2/3 cash base method i.e. transfer 2/3 profit to Profit and

Loss A/c method :

Particulars Amt. (Rs.)
Raw material .........ccoovveiimiiiiiiieee e, 2,60,000
WageS oo 2,00,000
Indirect eXpenses .........veeeeeiiiiiiieeeiiiieeeeeerieeeeees 1,00,000
Closing stock at the end of year ............cooovveeee. 20,000
Loss due to Accident......ccoouueveevieniiineiiiiiieiieeennnn. 40,000
Uncertified WOrK .....oooeueeeeieeeiieeeeeeeeeeeeeeeeeeeeeeen. 60,000
Cash received (90% of certified work) ................ 7,20,000
CoNtract PriCe ....oeiiivveeeeeiiiiiieeeeeeeeee e 10,00,000
Sales of SCrap ....oeeeeiiviieeeeeee e 4,000
Sales of raw material (cost Rs. 10,000)................. 12,000
PLant ... 1,00,000
Plant at the end of year.........cccoeeeeiiiiiiiiiiiiiieenne. 60,000
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A product passes from three process viz. A, B and C. 15
5,000 units of raw materials at Rs. 2 per unit were introduced
in process A. Other information is as follows :
Particulars Process-A | Process-B | Process-C
Materials (Rs.) 7,000 7,500 4.000
Labour (Rs.) 9,000 2,800 5,400
Other expenses (Rs.) 1,500 1,625 2,612
Normal wastage (in %) 10% 5% 2%
Price per unit of
wastage (Rs.) 1 2 5
Actual production (units) 4,500 4,200 4,150
Prepare Process Accounts from above mentioned details.
OR

In Krishna Cotton Company, product passes through 15
three processes. Following details are available :
Particulars Process-A | Process-B | Process-C
Materials (Rs.) 2,000 3,020 3,462
Labour (Rs.) 3,500 4,226 5,000
Overheads (Rs.) 1,500 2,000 2,500
Normal wastage
(of unit introduced) 10% 5% 10%
Sales value of normal
wastage (per unit) (Rs.) 3 5 6
Actual production (units) 920 870 800
1,000 units were introduced in process A at Rs. 5 per unit.
Prepare Process Accounts.
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4  Following information is received for Job No. 108 of 15
Radha Company Ltd. :
Material ., Rs. 6,830

Wages : Department I :...... 80 hours at Rs. 5 per hour
Department II : .... 60 hours at Rs. 8 per hour

Variable overheads :

Department I :...... Rs. 10,000 for 4,000 direct labour
hours
Department II : .... Rs. 12,000 for 3,000 direct labour
hours
Fixed overheads : .................. Rs. 15,000 for 10,000 hours.

You are required to calculate the cost of Job No. 108
and estimate the percentage of profit earned if the selling
price quoted was Rs. 9,500.

OR

4 From the following information find out cost per kilometer 15
of one vehicle :

Annual Kilometer ...oooveeeeee e, 30000
Cost of vehicle ...o.oovviiiiiiiieieeeeeeee, Rs. 25,00,000

Annual expenses :

Licence fees ...oovvuiiineiieiiee e Rs. 80,000
INSULANCE «.ooeiieeeeeeeeeee e Rs. 70,000
Garage rent .....co.oooeveeeeiiiiiieeeeeiiee e Rs. 60,000
Supervisor's salary .........cccocoeeeiiiiiiieeiiiiinnnn... Rs. 1,20,000
Hourly salary of a driver..........cccooovveeeiiiiineeei, Rs. 25
Price of petrol, oil etc. per litre ........................ Rs. 250
Repairs per kilometer ..........ccccooeeeiiiiiiieiiiiiiieeenn, Rs. 10
Tyre expenses per kilometer..............ccccvvvennn.. Rs. 7.50
Kilometer per litre.........cccccoovvviiiiieeeeeeeeeninninn, Rs. 20 km
Life of vehicle 1S....ccooiiveviiieiiiiieiiiiieeeineen. 2,00,000 km

Speed of vehicle is 20 km per hour.
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